Related facts — Bar models

1

) A

Colour the calculations that match the bar model. Then complete the sentences.

8 5
6 2 4 1
8+6=2 8-2=6 4+1=5 5-1=4
6+2=28 2-6=8 S+4=1 4-1=5
8+2=6 8-6=2 5+1=4 1-4=5
2+6=8 6-2=38 1+4=5 5-4=1
q 6
7 2 2 4
q. - b - _
9 - = 6 - =
7 10
4 3 2 8
7 - = 10 -
7 - = 10 -
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Related facts — Bar models

1 Use the bar models to help you complete the related facts.

) A

8 7
5 ? ? 2
+ =8 _ +2=_
+ =8 2+ =
8 - = - =2
8 - = - 2=_
? 10
1 5 1 ?
1 + = + =10
. +T=_ + =10
1= 10 - -
- =1 10 - =
q ?
? 3 4 5
+ =9 __ +5=__
+ =9 5+ =
Q- = - =5
q. = 5= ____
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Related facts — Bar models w & Y
1 Use the bar models to help you complete the related facts.
18 15
10 8 q 6
+ =18 + =15
+ =18 + =15
18 - = 15 - =
18 - = 15 - =
14 12
6 8 4 ?
+ =14 4 + =
+ =14 _ +4=__
14 - = 4=
14 - = - =4
13 ?
? q 11 6
+ =13 ___ +6=__
+ =13 6 + =
13 - = - =6
13 - = . -b=_

© Primary Stars Education



Related facts — Bar models w & Y

1 Use the bar models to help you complete the related facts.

19 15
q ? ? 7
+ = + =
+ = + =
? 13
8 5 9q ?
+ = + =
+ = + =
14 ?
? 6 9q 8
+ = + N
+ = + =
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Related facts — Bar models

1 Use the bar models to help you complete the related facts.

LB B ¢

18 15
10 ? ? 8
10 + = + =15
___ +10=___ + =15
- 10=____ 15 - =
=10 15 - =
? 16
5 7 7 ?
4+ 7=__ +
7+ = +
=7
7=
17 ?
? q 8 5
+ = +
+ = +
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Answers

To avoid wasting paper & ink,
please do not print this page.
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Related facts — Bar models

1

) A

Colour the calculations that match the bar model. Then complete the sentences.

8 5
6 2 4 1
8+6=2 8-2=6 4+1=5 5-1=4
6+2=8 2-6=8 5+4=1 4-1=5
8+2=6 8-6=2 5+1=4 1-4=5
2+6=8 6-2=8 1+4=5 5-4=1
qQ 6
7 2 2 4
9- 2 6- 2 = 4
q. 7 6. 4 = 2
7 10
4 3 2 8
4 =7 2 + =10
3 =7 8 + =1O
7/ - 3 10 - 2 8
7/ - 4 10 - 8 2
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Related facts — Bar models

1

Use the bar models to help you complete the related facts.

) A

8 7
5 ? 2

S + 3 =8 +2= /

3 + 5 =8 = 7
8. 5 = 3 .5 =2
8 - 3 = 5 -2 = 5

? 10

1 5 ?
1+ 5 = 6 +_ 9 =10

5 + 1= 6 + 1 =10

6 -1 = 5 = q

6 - 5 =1 q = 1

qQ ?

? 3 5

6 + 3 =9 +5= 9

3 + 6 =q L = qQ
9. 6 = 3 I
Q- 3 = 6 _5 = 4
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Related facts — Bar models w & Y

1 Use the bar models to help you complete the related facts.

18 15
10 8 q 6
10 + 8 =18 9 +_ 6 =15
8 + 10 =18 6 + q =15
18 - 10 = 8 15 - q = 6
18 - 8 = 10 15 - 6 = q
14 12
6 8 4 ?
6 + 8 =14 4 + 3 = 12
8 + 6 =14 3 +4=__12
14- 6 = 8 12 -4=__38
14 - 8 = 6 12 - 8 =4
13 ?
? q 11 6
4 4+ 9 =13 1 +6= 17
Q9 4+ 4 =13 6+ 11 = 17
13- 4 = Q9 17 - 11 =6
13 - q = 4 17 -6 = 11
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Related facts — Bar models * & Y

1 Use the bar models to help you complete the related facts.

19 15
q ? ? 7
9 + 10 =_19 8 + 7 =__15
10 +_ 9 =_19 7 _+_ 8 =15
19 -9  =_10 5 - 8 = 7
19 - 10 =_19 5 - 7 =8
? 13
8 5 q ?
8 + 5 = 13 Q9+ 4 = 13
5 + 8 = 13 4 4+ 9 = 13
13 . 8 = 5 13 - 9 = 4
13 - 5 = 8 13 - 4 = 9
14 ?
? 6 q 8
8 4+ 6 = 14 Q 4+ 8 - 17
6 4+ 8 = 14 8 4+ 9 = 17
4 _ 8 = 6 7 - a9 - 8
4 - 6 = 8 17 - 8 = 9
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Related facts — Bar models

1

Use the bar models to help you complete the related facts.

LB B ¢

18 15
10 ? 8
10 + / + =15
8  +10-= 8  + =15
18 -10 15-_ 7 8
18 10 15 - 8 7
? 16
5 7 ?
5 +7 = 7  + 9 16
7 + Q4+ 7 16
12 =7 6 - 7 q
12 _7-= 16 - 9 7
17 ?
? 8 5
8 q 17 8 + 5 13
q 8 17 5 + 8 13
17 8 9 13 . 8 5
17 q 8 13 . 5 8
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